EIZATQrIKEZ EZETAZEIZ B’ AYKEIOY - MAIOZ 2021
AITAIKH TAQZzZA

Circle the letter of the correct answer among the four choices given. There is only
one correct answer.

PART | - GRAMMAR

1. No sooner out the bank than the thief grabbed her handbag.
A. Elaine walked C. had Elaine walked
B. would have Elaine walked D. was Elaine walking
2. | was wondering if me how to get to the nearest bus station.
A. could you tell C. you told
B. you could tell D. you were telling
3. Inview of the current situation, all hospitals are reported their
services to people who have no insurance coverage.
A. to be offered C. to be offering
B. to being offered D. offering
4. The police to investigate the disappearance of the van from the
parking lot of the department store.
A. were called in C. hadcalled
B. were calling in D. hascalledin
5.1 my mother to the doctor tomorrow. She very well
lately.”
A. will be taken...isn’t feeling C. will take ... hadn’t been feeling

will have taken... hasn’t been

feeling D. am taking ...hasn’t been feeling




6. By the time Allan 15, he three major trophies.
A. was... had won C. was...would win
B. is...will be winning D. had been...had been winning

7. You had better hurry up or all the seats

by the time you

A.  were taken...were arriving C. taken...had arrived

B. will have been taken ...arrive D. are being taken....have arrived

8. Sinceit all night, we today indoors, playing table
games.

A hadn’t been snowed...would be C has been snowing...will be

spending spending

B.  had been snowing...would spend D. was snowing...will have spent

9. When the boat the shore, please immediately.

A. reaches ... board C. will reach ... boarding

B. isreaching... have boarded D. will reach ... will have boarded

10. Scientific research

in order to find ways to deal with the new strains

of the virus.
A. is presently to be conducted C. will presently have been conducted
B. is presently being conducted D. will presently be conducted

11. Elizabeth’s agreement
certain that she will regret

the rival team shocked us. | am almost
sides after we win the games.

A. on assisting...to change

C.

to be assisting...having changed

B. in assisting...to have changed

D.

to assist...changing




12. Most people wish they

famous for something in their lives.

A. could have been

C would have been

B. will have been

D have been

13.“ in class yesterday, you
handed in today!”

that the essay had to be

A. If you listened...have known

Had you listened...would have
known

B.  Should you listen...had known

Were you to listen...will have
known

14. But for Nancy’s

during the storm, |

alive now.

A. help..wouldn’t be

C. being helpful...would be

B. helping...will be

D. having helped...wouldn’t have been

15. “Can’t you see | am studying right now? | wish you

me like that! In fact, | wish you

always bother
out of this apartment last year!”

A. couldn’t... moved

C. wouldn’t...would move

B. wouldn’t...had moved

D. won’t...were moving

16. A: Did the teacher let you

submit your project late?

B: No, | stay after school to complete it.
A.  tosubmit..was made to C. submitting...was made to
B. submitted...made to D. submit...was made to

17. Before returning to school, the Ministry of Health insisted that all

A. teachers be vaccinated

C. teachers to vaccinate

B. teachers are vaccinated

D. teachers will be vaccinated




18. The lecturer congratulated his students such good results and went

on them about the summer courses.
A. on achieving...to inform C. their achieving...informing
B. achieved...to inform D. in achieving...to inform

19. Jennifer is worried that | won’t pass the exam, so she suggested that |

some study guides that might prevent me from the
class.

A. could get...my failing C. got...having failed

B. should get...failing D. will get...my fail

20. | think Peter living in another country so quickly because his father
him on his business trips quite often when he was a teenager.

A. got used to ... would take C. gets used to ... used to taking

B. was used to ... had been taking D. used to ... would be taking

PART Il - VOCABULARY

21. A positive outcome of the pandemic was that a great number of concerts and

plays were online to the public.
A. accessible C. reachable
B. feasible D. obtainable

22. Students should be made aware from a very young age about what a great
their actions can have on the environment.

A.  result C. impression

B. imprint D. impact




23. Scientists are constantly looking for renewable sources of energy since most of
the existent ones are short.

A. turning C. coming

B.  running D. falling

24. Children should be taught that the that one group of people is
superior in any way to another is completely wrong.

A. conception C. deception

B. notion D. reflection

25. One can always volunteer to help out at an animal during the
summer break.

A. conservation C. shelter

B. resort D. sanction

26. Some of the new children’s story books are very beautifully

A. illustrated C. drawn

B. pictured D. depicted

27. The advantage of living in the countryside is the of fresh fruit and
vegetables.

A. elevation C. occurrence

B. plumage D. abundance

28. It’s really hard for me to a world without shopping malls.

A. think C. review

B. picture D. Protest




29. “Can you please

at the supermarket on your way home? It’s on the

main road, so you won’t need to change your route.”

A. drop me by

C. drop me off

B. drop me down

D. drop me over

30. On my first visit, | was amazed at how
neighbourhood was.

the new gym in my

A.  well-supplied

C. well-established

B. well-equipped

D. well-ordained

31. In a truly democratic society, everyone is allowed to their
opinions.

A.  vent C. voice

B. respond D. recall

32. This holiday is claimed to have the capacity to one

thousand guests in the summer months.

A. amenity...hold

C. site...facilitate

B. refuge...serve

D. resort...accommodate

33. is a successful means of maintaining natural

clean.

A. Emission...sources

C. Conservation...minerals

B. Contamination...resources

D. Recycling...habitats

34. “What is your puppy? | have never seen one like it before!”
A.  breed C. make
B. brand D. gene




35. The new traffic regulations

force tomorrow.

A. come onto

C. come to

B. come into

D. comein

36. The company had to make major cu
in their profits.

tbacks in order to deal with the

A. deficiency

C. deference

B. differentiation

D. deficit

37. Whenever you make a
the remaining amount is in your

through e-banking, you should check what

A. debt...balance

C. withdrawal...account

B. discount...statement

D. credit...installment

38. We were surprised to see that the tourist agency had planned such a busy
for us. How would we ever manage to visit three museums a day?

A. expedition

C. timetable

B. scheme

D. itinerary

39. Most companies are trying to reduce their carbon

manufacturing processes.

by adopting

A.  mark...superfluous

C.  fumes...superstitious

B. footprint...sustainable

D. dioxide...sufficient

40. Most of the in a good detective novel are there in order to
the reader.

A. hints...pursue C. inferences...cajole

B. clues..mislead D. mysteries...foresee




PART Ill - WRITING

The Greek economy is partially dependent on the number of tourists that visit the
country every year. Some believe that tourism can only be beneficial to our country
whereas others claim that it involves quite a few disadvantages.

Write a well-structured article for the school magazine on the above topic. State your
opinion and support it adequately by presenting at least two arguments.

Your article should be between 180 — 200 words. It should have an introduction, a

main body, a conclusion, as well as a title.







NEA EAAHNIKA

MEPO:Z |I. EPQTH2EIZ NOAANANAHZ ENIAOIHZ

2t napakatw epwtnoels 1-10, va BAAeTe 0 KUKAO TO yPAUUO TTOU QVTLOTOLXEL OTN
yovadikny ocwotn anavinon yla kade uia.
Movabdec 30

1) 2 mola amo TG MAPAKATW MEPLOSOUG TO pripa XpnoLuomnoLeitat AavOaopéva;
a. H kataokeur dev emidéxetal kapio BeAtiwon.

B. OéAeL va ekpetaleutel T B€on LoxUog otnv onoia Bploketal.
V. H opAia auth Slampaypatevetal To Bépa Tng mavonuiog.
6. H BouAn amoddacios va apBei n acuAia TpLwv BouAsuTtwv.
2) Eva armo ta mpwWTo LETAAAQ TTIOU ......cueveneee. ATOV 0 XAAKOG.
. KaAALEPYNOE
B. Slaxelplotnke
Y. KOTEPYAOTNKE
6. Sdlapdpdwoe

3) Katéktnoav e Tnv afia Toug tnv mo PnAn kopudn!
a. npotacn mou SnNAWVEL elpwveia
npotaon mou dnAwvel Bavpacuo
npotaon nmou dnAwvel apdlopritnon
npotaon nou dnAwvel anopia

o= W

4) H napaotaon anéonace S10upauPBLKEC KPLTLKEG.

. KOKEG

B. BeTIKEG

2 BpLopBEVUTIKEG
6. QTTOYONTEUTIKEG

5) AvakowvwBnkayv §paKOVIEL HETPA YL TNV OVTLUETWITLON TNG TtavénuLog.

. ipoowPLVA
B. EKTOKTOL

V. auotnpa

6 adka
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6) Ze mola Ao TIG MOPAKATW GPACELG UTIAPXEL avadopLkh AElToupyia TG YAWOOOG;

Q. Mag evwvel Babla kat mpoatwvia piia.

B. H xwpa pag sivat fuBlopévn otnv Lotoplia.

V. 'OAec TOU OL EATIOEC Elval HATALEG.

6. IAUEPA £XEL POPETEL TN LAOKA TOU auoTnpoL Kabnynth.

7) H Meodyelog eival 1o Aikvo TOU TTOALTIOUOU: GUVWVUUN TNG UTIOYPAUULOUEVNG AEENG
elvat:

a. TO amoyeLo

B. n Kottida

Y. TO TENOG

6. n Snuloupyia

8) Edboov dev epudaviotolv otV WPA TOUG, XAVOUV KABE SLKAlWUO CUMUETOXAG: TL
SNAWVEL N UTIOYPAUULOMEVN AEEN;

a. autia
B. XPOVO
Y. npolmnoébeon
6. anotéAeopa
9) O NapBevwvag KTLOTNKE TPO ....... , VW N Ayia Zodla PeTd ......... .
a. XpLotou — XpLotov
B. XpLotov — XpLotov
2 XplotoL — XpLotou
6. XpLotov — Xplotou

10) Zag Sivovtal peEPOVWHEVEG TipoTAoelS. Na Tig BAAETE 0TN OWOTH CEPA, WOTE va
oxnuatilouv pia kavovikn mapaypado:

A. ‘Eva onuovTIKO MOooooTto euBuvng yU aUTEC TIC SPOUATIKEG aAANAYEG OTNV
kaBnuepvr Lwn PEPeL Kat N mPOodo¢ ot AeyOUEVEG BLOTATPLKES ETILOTHLEG.

B. O €1k00oTOG alwvag Sikaiwg xopaktnelleTal w¢ oLwvog TwV PEYAAUTEPWV Kal
ONUAVTLIKOTEPWV KOLVWVLKO-OLKOVOULKWY OAAQyWV.

r. H avakaAuvyn tng doung tou DNA, mpwv amd 45 mepimou xpovia, Kol n
EMAKOAOUON «E€KpNén TNC yvwonc» otoug TOMElC tTNg Moplaknc Bioloyilag kot Tng
FeveTIkn¢ pEpVoOuV TNV avOPpWITOTNTO AVTLLETWITN ME UL VEX TAEN TTPAYUATWV.

A. Me ™ paydaia eE€AEN TG tEXVoOAoylag, o HEoOG «SUTIKOG AvBpwTmog» el
oT0 KatwdAl Tou 21ou awwva pia mMOAU Stadopetiky KabBnuepvy Iwr amod Tov
avtiotolyo avbpwro tou 2000 atwva.

H cwotn oelpad sivat:

a. [—A—B-A
B. [—B-A-A
V. B—A—A-T
5. B—A-T—A
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MEPO?2 Il. KEIMENO KAI EPQTHZEI2

210 mapeABdv, 6étav dakouya TN ¢pdon «n poda Ppiloketal mavtou», SUGKOAEUOLOUY
va cupdwvnow. Alamiotwva, BERala, tnv akatavikntn Suvaun tg podag, mioteva
OUWwG OTL Tavtote Ba umapyouv Topelc Omou TEtowou eidoug dalvopeva dev Ba
UmopoUV va aoKfoouv Kamola emnidpaocn. Twpa, e oca PAENw va cupPaivouv otn
Slapkela tng mavdnuiag, eipal umoxpewpévog va avabewpnow. O Adyog ival moAu

QrtAOG: Ol LAOKEG.

Moati dopape paokeg edw Kat Evav xpovo oxedov; Ma ¢uaoikd yla Tnv mpootaacia pog!
Elval éva pétpo mpoowpwvd alAd amopaitnto, €va avaykaio kako. H mpwtn
avtidpacn moAwv avBpwrnwy ATav apvnTikr, KABwWS N Haoka Toug SUOKOAEVUEL OTNV
avamvor) 1 Kot otnv oplia. Qotoco, autd Oev eumoOdloe TIG €TOLPEIEC va TNV
peTatpéPouy oe pla véa poda, mapouaotalovrag pia TEpAoTia ToLKAla ard oxeSia Kal
xpwpata, meiBovrtag moAAoUG OTL TO avaykoaio Umopel kal MPEMEL va eival wpaio,
TALPLOOTO HE TO GUVOAO TNG evdupaoiag Toug, e TO OXNO TOU TIPOCWIIOU TOUG N UE

TO XPWHO TWV HAAALWYV TOUC.

Oa avapwtnBouv iowg moAAol: elval TO00 KAKO va TIPOCEXEL KATIOLOG TNV EUdAVLION
TOU, £€0TW KOL LECOL OE QUTEC TIC SUOKOAEG ouvOnkeg; Ziyoupa oxt! To {nTnua mou Ba
ETIPETE VA LOG amacXoAel ival AAAo: oL paokeg Sev eival mopd To 1o MPOcdaTOo Kall
kpauvyaAéo mapddelypa tng duvaung mou dtabetel n Blopnxavia tng podag aAAd Kot
¢ enidpaong mou ookel otoug avBpwroug. Ta mAvia &ival 1 UMopouv va yivouv
EUMOPLKA TipoidvTa, va dladnuiotouv kot va BewpnBouv amapaitnta cumAnpwuaTa
TOU £€aUTOU PG, TNG KaBnuepvotntac 1 tng mowotntag {wng pag. Me duo Adyla, va

yivouv péda tnv omnoia viwBoupe oxeboOv umoxpewpEvol va akoAouBoUpe.

Autovonto, B£Bata, OtL n poda dev meplopiletal oto B£pa tng epudavionc. Moda
UTtopEL va elvat akopa Kal o Tpomog mou Stackedaloupe, Ta daynTd mou MPOTLUOULE,
oL A£EELC TTOU XPNOLUOTIOLOUE OTOV AGLE, TOL OVELPA TTIOU KAVOUUE yLa TG SLAKOTIEC
MOG... OAa autd oAU gUkoAa pag emiBaidovral, xwpig va to ocuveldntomolovpe. Kt
EVW MG oTEPOUV TNV €AelBepn BoUAnon kal eMNPEAlOUV TNV MPOCWTUKOTNTA HAG,

epelc €xoupe TNV Peudaicbnon oOtL eipaote oL o eAsUBepol avBpwrol oTov KOOUO,
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apoU €XOULE TAUTIOEL TNV €vvola TNG eAeUBEPLOC e TIG PALVOUEVIKA ATELPEC ETUAOYEG

TIOU paG MpoodEPEL N poda. Autog eival o peyaAlTtepog Kivouvog.

Epwtnoelc ue Baon To KEIPEVO Movadeg 30

2t napakatw epwtioels 1-10, va BAAETE 0 KUKAO TO PO TTOU QVTLOTOLXEL OTN
uovadikn ocwotn anavinon yia Kade pio

1) ZVpdwva e To KEIPEVO, 0 ouyypadEAC APXLKA TILOTEVE OTL N poda:
a. Bpioketal maviou
B. €XELTTOAU peyaAn Suvapun
Y. Sev €xeL MOAU peyain Suvapun
6. Sev Ba emnpéale TIG LAOKEG

2) ZUpdwva e To KELUEVO, oL eTALpELEG EMeloav TOAAOUC avBpwToug OTL:
a. TIPETIEL VA TIPOCGEXOUV TNV EUPAVLOT TOUG

OAa gival poda

Ol LAOKEG OUVOEOVTAL PE TNV ELDAVLOT TOUG

gL wpaio paoka dev Ba toug evoyAet

o=

3) ZVudwva pe to Kelpevo, n Sltapnuon:
a. dnuoupyel tn poda
B. neiBel Toug avBpwroug va akoAouBricouv t Léda
2 dnuloupyel epumopikd mpoiovia
6. ouvdEetal e 1o Ppalvopevo TG Hodag

4) Z0udwva Ue To KElPEVO, N KupLapxia tng podag:

a. EVIOYVEL TNV avBpwrvn eAeuBepia

B. Silvel véa Slaotaon otnv avBpwrivn eAevBepia

V. Sev emnpealel tnv avBpwrvn eAeuBepia

6. Snuoupyel pia Peudaiobnon eAeubepiog
5) 2to napeA9ov, otav akouya T ppacn «n uoda Bpioketal mavroUu»: TL SnAWVoUV Ta
ELOAYWYIKQ;

. puetadopa

B. ElpwVvela

V. gubu Aoyo

6. opoloyia

6) Twpa, pe ooa BAenw va ouvuBaivouv otn Olapkelx tng mavénuiog, eiual
UTTOXPEWUEVOC Vo avadswpiow: TOl0 oMo Ta TIAPOKATW amodidel To vonua tng
UTIOYPOLUULOUEVNG AEENG;

. va Stadpwvrnow
va eKOpACW AVTLPPNOELG
va aAAaéw amodn
vVa OKEDTW TILO TIPOCEKTIKA

o< ®
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7) Me Suo Aoyia, va yivouv uoda tnv omoia viwdouue oxeSOV UTOXPEWUEVOL VA
akoAouBoUUE: N UTIOYPAUULOUEVN dpaon:

a. OUUTIEPALVEL
B. ouvoyilel
v. TPOCOETEL
6. attiohoyel

8) Mddba umopei va eival akoua kot o0 TPOmo¢ mou SlaokedalouuE, T QAYNTA TOU
TIPOTIUOULE, Ol AEEEIC TOU XPNOLUOTTOLOUUE OTAV UIAGQUE, T OVELPA TTOU KAVOUUE Ylo
Ti¢ SLakomEC uag: Pe tn ppdaaon auth o cuyypadEac XpnOoLUOTIOLEL:

a. ETUXElPA AT
B. napadelypata
Y. ELKOVEG

6. QVTLOEoELC

9) eueic éyouvue t™v Yeudaiodnon: Mmoo amd TA TAPAKATW ELVOL GUVWVUHO TNG

UTIOYPOUILOHEVNG AEENG;
a. e€amatnon
B. BeBarotnTa
Y. urnoyia
6. auTtamatn

10) Kt evw pag otepouv tnv eAeuBepn BouAnon kot emnpealouvv TNV MPOOWITLKOTNTA
uag, eueic €youvue tv Yevdaiodnon ot eipaote ot mo eAevdepotl avdpwrmnol otov
Koouo: Ue T dpAon autr, 0 cuyypadES XPNOLUOTIOLEL:

a. avtiBeon

B. avaloyia

V. oxnua KUKAou
6 attioAoynon

14



MEPO?: Ill. NTAPATQIrH AOroy

MpoTiudg va akoAouBeic tn poda r oxtL (150-200 Ac€eLg);
Movadeg 40
(Av 0 xwpog dev emapkel, Umopeite va ouveXioeTe oTo iow UEPOG TNG oeAidag)
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MAOHMATIKA

MEPOZ A
OEMA 1
MNna kaBe pla amod tig akoAouBeg mpotaoelg va BAAeTe o€ KUKAO TO ypauua Z, av N

MPOTACN €lval CWOTH, 1) TO YpAapua A, av n mpotach ivat Aavbacuévn.

i)

iv)

AlveTol To TPLWVUUO ax?+Bx+y pe Stakpivouoa A>0 Kal £0Tw
X1, X2 oL pileg Tou. Av yla to dBpolopa S Kol To ywouevo P
TwV pL{WV TOU TPLWVULOU LoxUEL OTL S>0 Kkat

P>0 16te oL pileg X1 KAt X, €lval BeTikol aptbuot.
Av x<0 KoL y> 0 LoYUEL OTL 4/ -X-y=1/ -X - ﬁ

Aivovtal ol mpaypotikol aplBuot x, y kot ot Betikol
Tipaypatikol aplBuotl a, B yla Toug omoloug LoyxvEL

, . a+f
[x+y|< a kat |x-y|<B. Tote LoxVEeL OTL |X|<T'

Av oL Slaywviol evog TeTpamAeUpou eival (oeg totE TO
TETPATIAEUPO Elval opBoywvlo.

Av 800 SLadoxLkeg MAeupEC evog opBoywviou eival (oeg tote
QUTO elval TeETpAywvo.
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2 A
2 A
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MEPOz B
OEMA 2
Alvetal o TpayUATIKOG AplOUOG A Kol TO TPLWVUMO X2+2Ax—4.
i) Na Oei€ete OTL TO TPpUWVUHO €xel SUO SLADOPETIKEG TPAYUATIKEG pileg yla
OToLaSATIOTE T TOU A.
Movadeg 10

ii) Av A=1 kat x1, x2 €ival ot pileg tou TPLWVOPOU X?+2Ax—4, VA KOTAOKEUGROETE
e€lowaon 6eutépou Babuol mou va £xel AUOELG TOUG apLlOUOUC 2X1+3 Kal 2Xo+3.

Movaéeg 15
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OEMA 3
MNa tnv nepidpafn evog okomédou oxnuatog opboywviou, Ba xpnotlpomolnbolv x
HETPA CUPUATOTIAEYLOTOG.
i) Avyla g mAeupEg a kat B tou opBoywviou Loxuel otL: 12<a<Pf<16 va Bpeite petal
TIOLWV OPLOUWY UIMopEel va TAPEL TLUEG O aPLOUOC X.
Movadeg 10
ii) Av yvwpilete oOtL Ba xpelaotovpe 60 HETPO CUPUATOMAEYUATOC YL v
ePLPPAEOUIE AUTO TO OLKOTESD, VO CUYKPLVETE TO eUPadOV Tou He €va AAAO
owonedo oxApatog opBoywviou mou éxel prkog oo pe 41664 pétpa kau
nAdtog (oo pe 243 -3f64 pérpoa.
Movaédeg 15
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OEMA 4

Aivetal opBoywvio ABIA kot To KEVTtpo Tou O, KUKAOG e KEVTPO To onpeio O kat aktiva
OA kaBwg Kkat onueio P e€wtepkd Tou KUKAOU o To omoio pEpPouE Ta ePATTOUEVA
Tupata PA kat PB otov kUkAO.

i) Na 6eiete O0TL 1O ONnpeio P avrkel otn LEGOKABETO TOU TURMOTOG A,
Movadeg 15

ii) Av M eilval to péoco tou t0¢ou AB va beifete OTL N epamTtOUeVn TOU KUKAOU OTO
onueio M eivat mapaAAnAn otnv FA.

Movaéeg 10
B»‘»"%r- — 7."41[-
- / ) - \
P < M ‘ .O l
-‘.‘.\lkf '_‘,1"."'. :
A "4
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